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1) Suppose x and y véanvelsely nd x = 13 when y=17. Find x when y 45.
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3) z=30whenx = ‘and y =2, and z varies duectly with x and inversely with y. Find k and write an equation tha
models this relationship.
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Transformations: Write the transformations of the parent function y =— to the new functlon
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Vertical Asymptote: X~ O
Horizontal Asymptote: L =(p

Domain: ix « Z Og /[\:

Sketch a graph:

Identify the horizontal asymptote of each.
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Identify the holes and vertical asymptotes of each. .
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Fill in the information below.

11) y= x4 Oi%\l%j:—z) 12) yzlﬁ X_Z(_lu)rx j- (_) L. y%é}%)/
w2 UG C-a (X LQ %?1
Domain: CZX!X# ;2% Domain: EX x#(},? c& 3
x-intercepts: A S | | x-intercepts: {ux\{ i‘f /Ow ( X_V ) /L;
y-intercepts: ‘.,E_i-- 2 y-intercepts: (\O e

Simplify each and state the excluded values.
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